EARAROBEEIERT — 2 N— IBISH —F

2017818250 (K) 14E=%16H

m C1—-6 C1 5% (xwlw | lmEmml - |5 @) o 8
[A&4] 1 7 :400,000 @ ~ 2 3#%:100,000  ~ 3 3#&:50,000 3 ~ 43#:30,000” . 5 3&:20,000 ™
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
o — RFEED . -1-1- — ‘A= ()
izl 7| 2L 7=0 4 10 aa 1.(3_4).5 1-1-1-1 | 41.3 8 :1_919) ;E%
RTANRTy e BU—TU—h =Eiie
SEDE LEFE 34, -8-7- 6| - ERE— (BH)
olalo YehHYFAT ) 4 8 o (11314/28) 7-8-7-5 | 40.6 1 (4+738) %#%ﬁ&z
%Y/ Ny THY B:R7FA 2T [Filiikses
. . |LIFEE 5 : —6-4— — ABEH (BH)
315|5 TRIAYI v H— # 10 56.0 1(73‘::)8 S6a2 410 ° ﬁ; Eéﬂ%—
ixA1ZTyr—2 B:LIYRhLAL J=HrTp—L
T ft 9 | BREE 1:35.4 3-3-3-3 |41.9| — 7 473 | AAREEE) (&A1)
41810 BAXAL B X HhA ;.Oﬁ 3) +1) ?Iﬁl) J P N
W ERA Y E—7 B:vyFx—T714 KL AT 45
KT B4 | REFH 1:35.7 4-4-5-6 |41.8| — 4 437 | NIEBE (&)
5/1[1]|AE=FLTX 51.0 (1 1/2) o |BHER
RixAyavf—5— B:223FZE-F HhaFHTT— L
S, SP AARAH . -0-9— = BEILRE (FH)
cBY3| 71> XxEUT i 5 LTS 1.(315).9 9-9-9-7 | 41.2 6 (4_266) ngg
R:ZFAT—ILK B:vFiLF pailz:be )
— iERER : -10-10- - BIFFET] (FH)
1 - e it 4 s 1(/?3_? 10-10-10-8 | 40.8 9 <4+511) (%) A
R:7ROFXLTEL BT E-—I—-2X HAEH 2 VS
4 5 | BIIE 1:36.2 2-2-2-4 | 42.9| — 2 451 | TSR ()
8l7!8 Ay kY— 54.0 (a 1/2) (-4) L2E8F
XY T b —Trp—FK—-F B:LRY-XFT BT r—L4
— Lk GIN :37. ~7-8~ . — KBS (FH)
oM 4| vr—5-F1-2 4 9 2 1(347)1 6-7-8-9 | 42.9 3 ;1+514) ol
L:Er/a7o4 B:X¥/trbex B B
g TR E—ER :37. 56~ 8| — REfR= ()
1wl 57->v574- i 5 i 1(337)7 7-5-6-10 | 43.8 10 (4_620) ﬂ‘xéjgﬁﬁg
SNRIVT T BIRZFTUTUX TREREAS
® 1—F—@EBIERL
13—+— |7,8,10,1,5,4,(2,9),3,6
20—F— 7,8,10,1,2,5,4,9,3,6
3a—7+— 7,8,10,5,1,2,9,4,3,6
40—+ — 7,5,10,8,9,1,3,6,4,2
[ N5
B 7 2,160 714K 7-9 1,150 e E 7-8 230 JEE 5-7-9 4,840/
B B 7 370 5-7 2,540/ B = 7-9 1,970/ EE 7-9-5 39,320/
9 130M 5-9 360M B H 7-9 5,130M
5 230M
ABICOVWTRHDTERERRODLDE, THERLE,




